CXEMA 3ANYACTEM ABSOLUT SK2004

/b

13
\ & (ﬁ( 3

{

Komnanus AMPUBET Ten:  +7 (495) 135 4201
I 000 “AN-PUBET" Ten:  +7916 922 6789

www.irivet.ru Mouta: order@irivet.ru




CXEMA 3AMNYACTEMN ABSOLUT SK2004
Index|  Part No. Description Qty. |Index|  Part No. Description Qty.
1 | AHRN-02-01A|Nosepiece, M4 1 | 24 |AHR-101-29 |Cylinder |

AHRN-02-01B | Nosepiece, M5 1 | 25 |AHR-101-28 [Rubber Cushion 1
AHRN-02-01C | Nosepiece, M6 1 | 26 |AHR-101-27 |Lock Nut, Frame 1
AHRN-02-01D | Nosepiece,M8 1 | 27 | AHR-101-30-1|Stem, Air Piston 1
AHRN-02-01E | Nosepiece,M10 1 | 28 |AHR-101-30-4 |Plate, Large 1
2 | AHRN-02-02 |Nose Nut 1 | 29 | AHR-101-30A |Piston Ring 1
3 | AHRN-02-03 |Stroke Adaptor Cover| 1 | 30 |AHR-101-30-2 |Washer 1
4 | AHRN-02-04 |Connector Housing 1 | 31 | AHR-101-30-5 |Plate, Small 1
5 | AHRN-02-05 |Jaw Case, Rear 1 | 32 | AHR-101-30-3 |Lock Nut, Piston |
6 | AHRN-02-06A |Screw Mandrel (M4)| 1 | 33 | AS568-147 O Ring 1
AHRN-02-06B | Screw Mandrel (MS)| 1 | 34 | AHR-101-33 |Cap, Cylinder |
AHRN-02-06C | Screw Mandrel M6)| 1 | 35 |23 *22L Spring Pin |
AHRN-02-06D | Screw Mandrel M&)| 1 | 36 |P7 Spring Pin 1
AHRN-02-06E | Screw Mandrel M10) 1 | 37 |AHR-101-44 |Pusher, Valve 1
7 | AHRN-02-07 |Spindle Guide 1 | 38 |AHR-101-44A |Spring, Valve |
8 |ES E Ring 1 | 39 | AHR-101-45A |Collar, Valve 1
9 |/ AHRN-02-09 [Retum Tube 1 |40 |P6 O Ring 1
10+ | AHRN-02-10 |Lock Nut Lo 41 |22 8L Spring Pin 1
11 |Pl4 O Ring 2 | 42 |23*16L Spring Pin 1
12 | P14-BR Backup Ring 1 | 43 | AHR-101-45 [Valve 1
13 | AHRN-02-13 |Frame 1 | 44 | AHR-1011-46 |Spring, Valve ]
14 | AHRN-02-14 |Piston 1 |45 |P12 O Ring 1
15 | P22A O Ring 1 | 46 |AHR-101-52 |Cap, Valve 1
16 |P22A-BR Backup Ring 1 | 47 |23*6L Spring Pin 2
17 | AHR-101-19 |Piston Ring 1 | 48 |AHR-101-40 |Trigger 1
18 | AHR-101-20 |Hanging Clip 1 | 49 | AHR-101-39 |Trigger Rod 1
19 [S28 O Ring 1 | 50 |AHR-101-42 |Trigger Lever 1
20 | AHRN-02-20 |Frame Cap 1 | 52 | AHRN-02-52 |Spanner 2
21 | AHRN-02-21 |Safety Cap Nut 1 | 53 | AHRN-02-53 |O Ring 1
22 | P12 O Ring 2
23 | P12-BR Backup Ring 1

Komnanus AMPUBET
000 “AN-PUBET"

www.irivet.ru

Ten:  +7 (495) 135 4201
+7916 922 6789

Mouta: order@irivet.ru

Ten:

IRIVET




